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QUESTION 1

Your company has been watching the news and seen many examples of natural disasters, fires, acts of terrorism, etc.
that have disrupted operations. They decide that they need a geographically separate data center to fail over to. They
also have noticed that many times the IT staff are unavailable after the event and so ask for a solution that a corporate
executive could use to fail over if IT is unavailable. What solution best fits these requirements?

A. Fault Tolerance (FT)

B. Site Recovery Manager (SRM)

C. vSphere Replication (VR)

D. Data Protection

Correct Answer: C

Reference: http://www.vmware.com/files/pdf/vsphere/VMware-vSphere-Replication-Overview.pdf

QUESTION 2

Which two types of storage require switches that use Ethernet? (Choose two.)
A. Fibre Channel

B. NFS

C.iscsl

D. InfiniBand

Correct Answer: BC

Reference: http://www.brentozar.com/archive/2012/05/storage-protocol-basics-iscsi-nfs-fibre-channelfcoe/

QUESTION 3

Your boss asks you to make sure your VMs are recoverable in the event of data corruption or a major storage failure.
Which feature do you tell him meets that requirement?

A. Data Protection
B. Fault Tolerance
C. High Availability
D. Storage vMotion
Correct Answer: A

Reference: http://kb.vmware.com/selfservice/microsites/search.do?
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QUESTION 4

The name of the Type 1 hypervisor used in VMware\\'s product line is:
A. VESX

B. vCenter

C. Workstation

D. ESXi

Correct Answer: D

Reference: http://en.wikipedia.org/wiki/VMware_ESX (second para on the page)

QUESTION 5

You need more advanced monitoring and planning tools than vCenter can provide. You decide to implement vCenter
Operations Manager (vC OPS) for this. vC OPS provides which two pieces of information that will help in these areas:
(Choose two.)

A. stability

B. health

C. risk

D. duplicate VM reports

Correct Answer: BC

Reference: http://www.petri.co.il/vcenter-operations-manager-5-review.htm
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